I3B.L - Decwehey ¢ IY\J:(«&(Q\S X

Dek

——

8]

S lim f(irt\n\‘ ()

D
A
dt

h =20 VW

Tk of T4k~ rG
as & s«av\’r vecior

WU

Pd Q  so &5 k>

1 awmd\{s N
vectur on
i MA‘JU’\)V e
. at ¢
=7 | T leh) - (4
P o :'"'_'[;‘"‘““‘ ( lor\%r Yhan T (-Hk ﬁf
7 ¥ hed | Lud“ i

Sorng dmuh m)

\/
(/ = FE_C_SS'-*

@ Tanguat line &t P ois line 4t

Thuoam " ad | (R PN ?}(H’) .
PR, gt kD | @ it et veda s
o ﬁcjl\q d Rrentiab e , Han f-(+\— G M
P e <ew, gk, KeD. L 17 -

B

rm .—_&\}g\ 2;; (_r (fradr rlt) ) = nrv\ . o <Elr-F4), 9Guat} gty

e hiad - W) D
= o flred)- ) - git -
= N TR 980 Rheadohg) S

j 4=



] Rd At 8 ond Awged vedw e
@ ’F(_H:<‘]’e*+, Zarcjmn-\f, 2€+7 @ +:O;

o Fl)= ~teta ot D Fl1=4

U= <12,y
b= 2 o gl =2 r o

\wi2 j

s hine 2¢t > k= 2 Ty L8 <1227
e 3
= <§L,§‘,—§ ‘

et ..

)
v

poramethc  GWRNS  x= 2 cost y=sint g=t @ Pl 2.

E—X_\(r F‘M PC\(GNWEC 65(\5 4\0(“ ’h’\.ﬁ +ﬁh7{ﬂ+ “'\Q ‘)’0 ‘“/\1 N“¥

>

¢ 'z -2sint , Gost, 17

-:>\
¢ (Ofl,n/z) C’oYNS?OY\AS ‘o *33 —> ¢ (5): <-2,0,1
tongent rectar at P
¢ Targt line 15 ¥ (o,\,g) £ \\ v <Z-2,0,(7

L7 L R - R



o Can dso At 2% 39 el dodiatives
> . S .
re <zcost, sint, +D — T = -zsint, cost, (7

— ?“ = <-2.(O$'\'/ -t 0

\

s o A pweie] 2 e 2 V6

BQSI\Q
® 4 (cin]: cww
d - oduct
@ aj’[{m u(ﬂ]: £ (¢ o\Cﬂ o U\(ﬂ P(d&
] a AT
W 2 [w e ] = ot £6) e
| reoluct
O&[u& v@%] KAV D+ W) VW ?@L:
for
- = S ey S - det-
© -c%g [u@«\ X \,@f\] < UWVE + WWx V), c%g;f "
wCr
AW Prope @i @
& W IFA) = const, prove T4 of thegonal o 7).
wWands =Yy, T )=
C (‘H ((‘H‘Oe Q)*?O Zr(f (9
ow', O 12 (+ )= st @ 2 THEH) o \THI? = 0 Tl T\@. B
g

@ ~ o N
= :g;“r\\“(ﬂ %ﬂm 2] = TOTm e ® W) = 27w

|



ln‘cc%f alS \

= gi’?—(ﬂ dt = <£bﬂ+\ol+, fabgor)f* S\:Mﬁ D

‘{7;\0 N N
t=a = QOO)‘”R(G)

b -
L f redi= RG)

By FTC
N >
where @ ()= ¢ ()
Ex" N ~
=X g\(ZCoS(: T+ sint |+ 2tk )OH——

1\
~ -~
25wt L - Cos%ji—{LL 1
T wedar cost

0
=> yl = <Z 5\h'§_~25m0, -005‘{\&)60,(—2){ ol>
°
- < n?
=<zl i)



